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o Adjectiveml q=- i
Della is a beautiful girl in the class.
clla is more beautiful than any other girl in the class.
Della is the most beautiful girl in the class.
Comparison of Adjective f$= o= | ta=-
) Positive WeTHIS 1t @t
b) Comparative IR YT B |
©) Superlative NG WYy wE |

lm Comparative Superlative
No other + Noun(Sin.) + S + V+ Adj. (com)+than any S + V+ the+ Adj (sup) + ¢
Verb+as+Adj_+ as+ Noun other+ noun any other+ noun "
No other girl is as tall as Esha. Esha is taller than any other girl Esha is the tallest girl.
Very few,+ noun (plural) Sub + verb + adj (comp) + Sub + verb + one of the + 54:
+verb + as + adj + as + than + most other + noun (sup) + noun (pluraj) !
other word (plural) Esha is one of the tallest girls in
Very few girls in the class are Esha is taller than most other the class.
as tall as Esha, girls in the class
Sub + verb + as + adj+as+ | Sub (noun)+ verb + not + adj | No Superlative
noun (com) + than+noun(S)
Esha is as tall as Cathy. Cathy is not taller than Esha.
Sub + verb + not + as + adj | Sub (noun) + verb + adj No Superlative
+ as + noun (com) + than+ noun (sub)
Cathy is not as tall as Esha. Esha is taller than Cathy.

[Degree- wrat, =ifasmyet; Comparison-gesi]
BRI &= TSR Warw =w- The Positive, the Comparative and the Superlative.

T Adjective-B = womr aim 7t e T Adjective-ts == a1 =W B2 wigg Positive
degree =¥ | @==- Sadia is a clever girl.

9Z¥ Sentence-B7® clever word-G MAEY Adjective, TS TR wEl T =W B S SR B
FSO1 clever S =#N 7H 7 | RS 30w R A 7N AR, @y clever @B Adjective B3 Positive

7fC e A T@7 T goAt G SEew TS Adjective-93 @ W% =R A =W O Comparative
degree o1 Sadia is cleverer than Mira.
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There were guest than 1 expected.

(a) less
(<) fe\\'

\s\/:ﬁam T than Salam.
(a) tallest

(c) more taller

< -I know him better than you. (Positive)
(a) You do not know him as good as 1.

(c) You do not know him as well as me
\W)hich one is an example of superlative degree?

(b) lesser

(d) fewer Ans. d
(b) tall
(d) taller Ans: d

ST @IETIA YA fAwe fama-2050

(b) You do not know him as well as |
(d) You do not know him as good as me Ans: &

T fASIT= CABTE AANAGA-058

(a) least (b) less
() near (d) upon Ans: a
Mich is the example of superlative degree?
(a) least (b) less
(c) near (d) upon Ans: a
< Sheis ....... than her brother.
\/(a) elder (b) older
eldest (d) oldest Ans: b
v/l?e is taller than—
(a) me (b) mine
©1 (d) lam (e) may Ans:c
\%:‘the two boys, Latif is _____ intelligent. (D-Unit, D. U. 2013-14)
(a) most (b) more
(c) as (d) far Ans: b

< Which of the following is a superlative sentence?

(a) Hira is not so tall as Panna

Very few subjects are so easy as this.
Which of the following is a positive sentence?

(a) Boby is taller than any other girl in the class.

\/(c) Sabrina is as wise as Sagupta,
% A string of pearls was not so bright as her teeth. Make comparative:

(b) Sadia is not so beautiful as Sumaya
(d) Nurul is the best boy in the class. Ans: d
(b) Very few young men are so industrious as Murad

(d) Sadheen was as active as Asad. Ans: ¢

IER.D.U(2007-08)

(a) Her teeth was as bright as a string of pearls.
(b) Her teeth was brighter than a string of pearls.

(¢) A string of pearls was brighter than her teeth.
(d) A string of pearls was very bright as her teeth.
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\/’l‘he situation is (A-U

than gyer (b) graver
(n) aggravate (d) worst (8-U /.
(c ive -Unit, D. U, 2005.¢,
' rrect? ; «
<+_~"Which of the following is not co (b) tallest
ta; :mges: (d) biggest - %
¢) larges o1l %
. GIEA T
\/'/ The best translation of the sentence i (b) He is not tall enough.
(a) He is not as tall like his brother. . hot as tall as his brother.
) He is not taller than his brother. :‘d) Hebl:tter o atlanttay ot o dns; 4
e recor .‘la.i—-———'_—L-‘g—
Ratan maintained that his scholarship (C-Unit, D. U. 2010.11]
hers. (b) at its least was as good as hers

(a) was better or at least as good as hers
(c) was as good or better than hers. ‘
was better or at least as good as hers scholastic 1

(d) was better than or at lest as good as hers.

— Ans: 4
(D-Unit, D. U, 2007-05

l

< Choose the incorrect sentence :
(a) Who is the best of the two boys? (b) Who is the best among the these boys?
() Who is the best among the three boys? (d) Who is the best boy of this group? Ans:
< Dhaka is becoming one of the — cities in Asia.
(a) more busy (b) busy .
) busiest (d) most busiest dns: ¢
\//S(he is beautiful but she is — her mother. 24" BCS(Ifom
(a) as beautiful (b) less beautiful
(c) most beautiful (d) not so beautiful as Ans:
> I thought that — was the last one. 24" BCS(Ifey
(a) prettiest one of all (b) the most prettiest of all
(c) the prettiest one of all (d) the prettiest one from all Ans: ¢
I found the worse condition.The underlined word is-
(a) positive (b) comparative
(c)-assertive (d) superlative Ans: b
\-ﬁ superlative form of the wond ‘late’' is- TP AT T SRETE-203¢
(a) Latter (b) Lastest
(c) Eatest (d) Least Ans: ¢
No animal is so big __ the blue whale. HSTET [HaHa AT 2000
(a) than (b) from
(c) but (d) as i’.ﬂ_“-‘
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"~ Dhaka is becoming one of the cities in Asia, Rupali Bank-20113
\/ (n) busiest (b) more busy

(€) more busier (d) none Ans: a

& _~Of the three sisters, Momena is the

(n) most smartest (b) smart

(c) smartest (d) more smart Ans: ¢

& He is....in the class. AATNR IAIPINA er=pifarm BREDf-3003
o
(a) taller (b) tallest
(¢) the tallest (d) tall Ans: ¢
Which one is the comparative form of ‘worst*? s et Afawffsr-sose
/ (a) Worst (b) Bad
(¢) Weaker (d) Worse Ans: d
\y\(rhich one is not example of Superlative degree? WW
(a) Less (b) Upper
(c) Highest (d) Worse Ans: ¢

1y friend said that no car could go

TEIRA AAFAGIEE (A1 Gz 2rapit sy <

t as his car EmaaEEs FEIRG W, )-Jo0s
as fast like his car (d) so fast like his car Ans: b

—_

& Which one is the correct sentence? GAEE 2N 24 rEs-3000

(a) He is more perfect than any other gentleman (b) Heis a perfect gentleman.
71 (c) He is one of the most perfect gentleman. (d) He is the most perfect gentleman. Ans: b

ich of the following sentences is correct? ZFIE AABETE (ST W) -200)

(2) He is one of the most rudest men I’ve ever met
(b) He is rudest man I’ve ever met

(a) as fast as the car of him (b) as fas

<

(c) He is one of the rudest men I’ve ever met

f all the men I've ever met, he is the rudest Ans: ¢
%©~" Helal’s luck couldn’t have been ....than Ahnaf.
(a)worser (b) worst
worsted (d) worse Ans: d
* Which one is the correct sentence?
(a) He is the most perfect judge. (b) He is a most perfect Jjudge.

( e is the very perfect judge (d) He is a perfect judge Ans: d
%  Choose the correct sentence.

(a) The houses of our village is good than yours

(b) The houses of our village are good than those of yours

(¢) The houses of our village is better than yours
(d) The houses of our village are better than those of yours Ans: d
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